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UNIT IV: (Important Questions)

1. Construct PDA for following :—~L = {anc bzn |n> = 1} = {é,%};}, Specify the acceptance state.Zover alphabet.
2. Design aPDA forthelanguage L={WW"|W=(a,b} UFTU 2018-19)

3. GenerateCFGforthe givenPDAMisdefinedas(UP TR} 2018-19)
M= ({qo, q1}, {0,1} {x, 20}, §, qo, z0, q1) where & is él,en as follows:8(qo, 1, zo)=(qo, xz0)

8(q01 1 ,x)=(q0,XX) \‘
8(q0,0,%)=(qo,x) &Q@
3(qo,€,x) =(q1,£) {fb

5(q1, £,X) =(qu, &) Q\
8(q1,0,x)=(q1,xx) :
8(q1,0,20)=( q1,€)

4. Prove the Lemma that langlage recognized by final state PDA machine is also recognized by empty-stack PDA
machine and vice-versa. i.e. L(M) = N(M) Language by Final State PDA machine. N(M)—Where L(M)
Language by Empty Stack PDA machine.-N(M).(UPTU 2013-14)

5. Prove that the languages L1 and L2 are closed under Intersection and complementation if they are regular, but not
closed under the above said two properties if they are context free languages.

6. Construct a PDA that accepts the language L over {0,1} by empty stack which accepts all the strings of 0’s and
I’s in which number of 0’s are twice of the number of I’s.(UPTU 2012-13)

7. Prove that every language accepted by PDA by finite state is also accepted by some PDA by empty stack.

8. Define a deterministic push down automata (DPDA). Write a DPDA which accepts the Language L= {a"b"c" | n
and m are arbitrary positive integers}.(UPTU 2015-16)

9. Obtain PDA to accept all strings generated by the language { a"b™a" | m,n>=},

10. Construct a deterministic PDA for the following language : L = {x € {a, b}* | na (x) # nb (x)} where na (x) :
number of a's in the string x nb (x) : number of b's in the string x.(UPTU 2013-14)

11. Show that if L is a language of Deterministic PDA (DPDA) and R is regularthen L N R is a language of DPDA.



